Test: 
Is this sencence  true(T)  or  false(F) ?                                                                                                                               
1. San Francisco lies in Nevada.


2. San Francisco is a hilly city.


3. Today Alcatraz is the worst prison in the world.


4. The Golden Gate Bridge is in Las Vegas.

5. Hollywood is part in LA.

6. LA is called „the city of Angels“.

7. There is The Hollywood Street of  Fame.
8. Beverly Hills is a part od LA.

9. Chicago lies on the bank of the lake Michigan
10. Czech or Slowak people don´t live in Chicago.

11. Jazz isn´t plaayed in New Orleans.

12. New Orleans is a birthplace of Luis Armstrong

13. Las Vegas is in a desert.

14. There is a lot of casinos and hotels in Las Vegas.

15. One hotel is named Paris.

16. Detroit has car industry.

17. Its nickname is „windy town“

18. „music city“ is Nashville.

19. Atlanta is a seat of  Hamburger copany

20. Miami beaches are in Florida
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Řešení:

1F, 2T, 3F, 4F, 5T, 6T, 7F, 8T, 9T, 10F, 11F, 12T, 13T, 14T, 15T, 16T, 17F, 18T, 19 F, 20T
